MK

1 BRI ORI (HAT 2 A)
(1 =H
MRS R2 R3 R4
200m 1 123, 417 124, 247 123, 985
400m 1 3, 246, 688 3,282, 124 3, 300, 701
%4y 1,667, 815 1, 646, 827 1, 584, 055
aE 5,037, 620 5,053, 198 5,008, 741
a5 102. 3% 100. 3% 99. 1%
(2) R
AR R2 R3 R4
200m 1 846 927 760
400m 1 47, 871 48, 126 48, 208
D% 30, 587 29, 159 25, 567
&3 79, 304 78, 212 74, 535
i 105. 7% 98. 6% 95. 2%
(3) MAAT
7 BRI
AR R2 R3 R4
200m 1 0 0 0
400m 1 3,113 3, 053 2,638
%53 0 0 0
=) 3,113 3,053 2, 638
4 BAARERI L — A
R R2 R3 R 4
200m 1 350 465 379
400m 1 6, 746 7, 169 7571
D% 12, 757 12, 555 12, 684
7t 19, 853 20, 189 20, 634
v &Rt
AR R2 R3 R4
EFT+HA) 22, 966 23, 242 23, 272
fak 110. 3% 101. 2% 100. 1%
(4) MATNOBEHRLEICE T T4 4 X7 7 750 (BAL: A %)
R R2 R3 R4
N | HlA 3,113 | 100 3,053 | 100 2,838 | 100
IYHLITAF X
SN 941 | 30. 2 1,279 | 41.9 1,256 | 44.2




MK

2 HRIROIRDL (REFI)

(1)

(3)

3
(1)

(2)

Bk (BEAT 2 N)
AR R2 R3 R4 Bt
A 113 103 291 137, 489
kAR & 4K (AL )
T R2 R3 R4 2t
Yasexy 10 7 15 612
FEREE (BN )
R R2 R3 R4 Bt
Lasey 16 19 27 1,043
(BEWRT AR 7 - JgesBiHEG S L)
B ORI (REFIR)
T HH A (AT )
R R2 R3 R4 Bt
5k 1 1 2 31
AR (BN A1)
R R2 R3 R4 Bt
Yasexs 0 0 0 45
(A ARfggsBiiry hU—27 X 0)
4 R TlEsRTR AL ORI (2EF) (BT - 1)
TR R2 R3 R4 = =

T A% 62 67 112 936

(A AR > bV —27 X D)




